8 7 6 5 4 3 2 1
1 v

>

REVISIONS
NOTES: (UNLESS OTHERWISE SPECIFIED) THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC, TR JESCRIPTION e T vl
1. RATED DESIGN LOAD +46/-52 PSF,
x| m_jeu
4, TESTED IN ACCORDANCE WITH DADE COUNTY PROTOCOLS TAS 201-94, TAS 202-94, & TAS 203-94, 3442 | A ADDED IRC/IBC NOTE 8/28/20 | TLC
? O F T0 STl
‘ | — —1* DVERLAP 5 DVERLAP -
(172 DOOR VIDTH) FT OF HEIGHTXDESIGN PRESSURE) /DR JAS
(9067)(1 FOOTX(46,00 AND ~52.00)(417.08/-47148) LB -
7. JAMB FASTENER REGUIREMENTS: W 9
Fy=(1/2 DOOR WIDTHXT FT OF HEIGHTXDESIGN PRESSURE) oD B8
Fy =417 LBS, SCALE 1+ 12
8. DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASTM A-525 TO G40 MIN, WITH BAKED-DN PRIMER, AND BAKED-ON POLYESTER PAINT TOP COAT, DA TG YN, A RO 2 b HIGANESS, b ~00 WITH
9, FOR ANCHORING INTD WOOD,USE ONE 5/16° LAG SCREW PER TRACK BRACKET WITH 1-1/2' EMBEDMENT INTOD SHUTHERN PINE (G=095) TR BETTER
0. WELD SLOT ON ANGLE 3/32* X 1* LONG DN 12* CENTERS, ‘IF WELDING MOUNTING OPTION IS CHOSEN! POLYURETHANE FOAM __—THERMAL BREAK
{1, LIFT_UP MECHANISM-MANUAL, CHAIN LIFT, OR DPERATOR IS NOT PART OF THIS APPROVAL, JOINT SEAL / POLYAMIDE~ JBACKER SIECL HAVING
12, STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOW HEADROOM TRACK IS AVAILABLE. FOR LOV HEADROOM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP BRACKET VITH A MIN OF ‘ MINIMOM 29 GA THICKNESS
() 1/4 - 14 X 7/8" SELF DRILLING CRIMPTITE SCREWS IN LIEU OF THE BRACKET SHOWN ON DRAWING. U-BAR ON TOP SECTION SHALL B INSTALLED ON TOP OF LHR TOP BRACKLTS, — Loy L G ~40 VITH PRINE COAT
13, ATTACH STRUTS WITH (@) 1/4-14x7/8" SELF DRILLING CRIMPTITE SCREVS AT ALL HINGE LOCATIONS AND (2) BETWEEN EACH INTERMEDIATE HINGE. TYP. STRUT LOCATED AT TUP AND/ OR AT BOTTOM e |
OF SECTION, 5 1, 1313 MINIMUM
14, KEY LOCK, OR SIDE LOCK REQUIRED, ‘
15 EXHAUST PORTS- DPTIONAL UP 10 3 PER BOTTOM SECTION. | 1 — |
16, INPACT RESISTANT GLAZING OPTION- INPACT RESISTANT GLAZING SYSTEM MAY AND BE INSTALLED IN TOP OR INTERMEDIATE SECTIONS. GLAZING SHALL BE 1/4' POLYCARBONATE. 14* X 4" 80 -
MAXINUM SIZE, FASTENED WITH § 8 X 1* SMSi 5% MAX ALONG THE HORIZONTAL AND 3X MAX ALONG THE VERTICAL. SEE DETAIL F-F ON SHEET 2 FOR ASSEMBLY DETALLS,
17, THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY UF THE PROFESSIONAL OF RECCRD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE WITH -
CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING 1200 | \odorr TYP.
18, LOUVER OPTION - LOUVERS MAY BE INSTALLED IN DOOR IF THE AREA DF EACH LOUVER DOES NOT EXCEED 60 IN, DOOR VENTS LARGER THAN 60 IN MUST BE TESTED FOR IMPACT, | 24,00+ 03
19, & 4-172" X 6 X 22 GA BACKER PLATE IS TO BE LOCATED AT EVERY INTERMEDIATE AND DUTER END HINGE LOCATIONS, R
__CABLE DRUM SHAFT TORSION SPRING COUNTERBALANCE SCALE 1+ 4
i T G T
AR A= W@: p
0 4= p—
=
FLAG MOE “HIRIZONTAL TRACK *5%
TOP FIXTURE — : = “J
O YA B NPt
5/16 X 1-5/8" LAG SCREW | 15" MAX OC.
ey ST il MIN 3 AS_SHOWN FIR 0P ONLY)
> FLAG ANGLE)
END HINGE T
16 GA STIFFENEND 4 STRUT 1 PER SECTION
JAMB  BRACKET 4" Y 16 GA
OPTIONAL GLAZING
1/4 - 20 X 9/16" TRACK MAX 1 WINDOW
BOLT AND 1/4 20 HEX NUT PER HINGE PANEL—
AT EACH JAMB BRACKET—__|
VERTICAL TRACK SLIDE LOCK
3G MIN—
ROLLER
\\\\\\
PR AN
£ o ?k o 0 BOTTOM FIXTURE
g s ()
,".*.:" e ‘..'.0..'.."...".*..9 ’7 3// STRUT 1 PER SECTIDN n.
? . C. VOELKEL ¢ i R :
l.ll' ......................... / Y, LF -
{ . .j Digitally signed —C LA 3
- ., 133174 R 3] +
R < 0. |31t bylohn 182 MAX DOOR WIDTH AND 240" MAX DODR HEIGHT I vor
W loens e Safistian ook HDLE SPACIN
l\é‘ss --------- x( -ﬂoelkel e ONLESS OTAERWISE SPECTFIED APPROVALS _ DATE
\\\(ONA\-:'; GLE Rk THRD ML PROECTIN INTERPRET DIV & TOLS TOLERANCES! RAWN [ CONRAD _8/28/18 LEWISVILLE, TEXAS
T S AN AL =t LR ASHE YA oI CAE’ECRKDE/DED S —— T
) CHRISTIAN VOELKEL Pt _WEATHERSEAL =JC 3" TRACK - 13 GA ALL IIJII\J%SHEASRE IN X =00 MATERTAL - VINDLIAD NODELS 4600/4650/5745,/5765/
212 N NEW VARRINGTON ROAD. UNIT 1A (ASTRAGAL) ANGULAR = +5° 7965/515/525/830, +46/-52PSF
] ‘ SECTION ¢-C SECTION 1D OVERHEAD DOOR CORP DO NOT SCALE HOLES: DADE COUNTY, 182" MAX WIDIH
FL PL 82ee9 TX PL 133174 SULTE_ 200 iy SRR Ty e | oSl = +aner-an D D-411531 A
PROFESSIINAL ENGINEER'S SEAL PROVIDED ONLY FIR LEVISVILLE, TEXAS 75067 | FEATURES & MUST MEET APPLICABLE frrr GEEM@E e e
VERIFICATION OF VIND.0AD CONSTRUCTION ETALLS 469-549-7100 IN-PROCESS INSPECTION STANDARDS. N s R e SCALE 142 | UDM = EA [SHEET 1 OF 4
ENG F.20.041D-(FORM REV & 8 7 6 3 ? 4 ‘ 2 !



chris
Texas


4 3

2 1

A4

3/16" X 1-5/8" LAG SCREW
INTO MIN 2 X 6 # 3 SP (=095

ELEVATION ON SHEET [ FIR

— —¢./3" EDGE DISTANCE
r

3/8" X 3' LAGL SCREW, WITH 1-
1/8" WASHER, MAX, OF 24" OIC,,
MIN. 2-3/4" EDGE DISTANCE

8X6#3SPGU55

BTTER~

WOOD MOUNTED TO # 3 SOUTHERN PINE SUBSTRATE

2 X643 3P =059
OR BETTERS

OR BETTER. (SEE DOOR

HOLE LOCATIONS)

16 GA JAMB
BRACKET

Zrm
C\

MOUNTING T0 WOOD
JAMB DETAIL

" EDGE DISTANCE

13 GA CONT,
WALL ANGLE—""

TRACK CLIP —

1/4-20 % 9/16" /

TRACK BOLT AND
1/4-20 HEX NUT

3/8" DIA. SIMPSON TITEN HD
FASTENER, MAX. OF 18" 0.C, 2-3/4
MIN. EMBED INTO MIN, 1300 PST GROUT

FILLED CMU, MIN. 4" EDGE DISTANCE—

MIN 3/16" THICK STEEL
FOR MOUNTING

= —PTIONAL: WALL ANGLE MAY BE
ATTACHED TO SUPPORTING STEE%LF
DRILLING SCREW WITH 1" 0D, WASHER,
IN LIEU OF WELDING, (SEE DOCR
ELEVATION ON SHEET 1 FOR HOLE

WITH MIN. (D 174 - 14 X 1"

LOCATIONS)

MOUNTING TO STEEL
JAMB DETAIL

— —4" EDGE DISTANCE

7

[-1/8" DD, WASHER —

—3" EDGE DISTANCE

—3/8" DIA, SIMPSON_TITEN HD FASTENER, MAX. OF
24* UL, 2-3/4" MIN_EMBED INTO MIN, 2000 PSI
CONCRETE, MIN. 3" EDGE DISTANCE

T T2 X 6 4 3P (=059 R BETTER—— V

WOOD MOUNTED TO GROUT FILLED MASONRY
BLOCK DETAIL

TT—1-1/8* DD VASHER

WOOD MOUNTED T0 2000 PSI

— ’74 EDGE DISTANCE

CONCRETE DETAIL

*%BGEFISTANEE

/ ¢ ANCHOR OPTIONS;

) 3/8" DI, SIMPSON TITEN HD
FASTENER, 2-3/4" MIN, EMBED INTO MIN.
2000 PST CONCRETE, MIN, 4" EDGE
DISTANCE

y 2) 378" DIA HILTT KWIK BOLT 3,

/\

EXPANSION ANCHOR, 2-1/2” MIN, EMBED,
MIN. 4" EDGE DISTANCE

ANCHER

1" 0D WASHER

MOUNTING TO GROUT FILLED MASONRY

E)Agl/ﬂgH”DR OPTIONS;
MIN. EMBED INTO MIN. 2000 PST CONCRETE, MIN,
3" EDGE DISTANCE

) 3/8" DIA HILTI KWIK BOLT 3, EXPANSION
ANCHOR, 2-1/¢" MIN, EMBED, MIN. 4" EDGE
DISTANCE

*(SEE DOOR ELEVATION ON 1" 0D

SHEET 1 FOR HOLE LOCATIONS

BLOCK DETAIL

ANCHUR
WASHER

3. 3/8" DIA POWER LOK/BOLT, EXPANSION
ANCHOR, 1-5/8" MIN, EMBED, MIN. 4" EDGE

DISTANCE *(SEE DOOR ELEVATION ON

SHEET L FOR HOLE LOCATIONS

/

MOUNTING TO 2000 PSI
CONCRETE DETAIL

1A, SINPSTN TITEN HD FASTENER, 2-3/4"

ENG F20.041D-(FORM REV A

SECTION E-E
SCALE 1+ 4 [3 GA MIN. WIDE BODY END HINGES FIR 2' TRACK,
oS T I GA END HINGES ARE REQUIRED FOR 3" TRACK
DAYLIGHT DPENING = 13" X 45" ,
MAYIMUM STZE) MIN. OF 5 FASTENERS FIR MAXIMUM 7/16" DIA, STEMS TOP ATTACHED WITH (6) 1/4-14x7/8
SIZE OF 6" EXHAUST PORT, BOLT SIZE AND BUTTOM ROLLERS S S TS R <
1/4* POLYCARBONATE o - | o q -
N - RS o M 24 ke DU LI = (3 Gh ROLLER SLIE ATTACHED “
’ ‘ L 5 o 2* ROLLER WITH 7/16" DIA 1144 \IL [R
__—INTERIOR FRAME UNINSULATED DOORS— BOLT AND NUT IN CENTER SLOT i s 3* STEEL ROLLER WITH 9/16' DIA, PUSH
g ¥ 1" SHEETMETAL SCREV AND 174 - 20 X 9/16" TRACK BOLT "‘|—""' NUT NOT REQUIRED ON 9/16" DIA
DOOR SECTIIN  — AND 1/4 - 20 HEX NUT THROUGH 5
ALIGNING HILES PUSH NUT REQUIRED ONLY ON 2" ROLLERS c
OCR SECTION “ 0LLeR LBcATIon, 14 Wi BE Wi
WINDOW DETAIL I LEEEXBTRUARCEKUL REINFORCING PUSH NUT AND BRACKET DR HINGE
SECTION F-F
SCALE 1+ 4 DETAIL H DETAIL T
L%ﬁgf“m SCALE 144 13 GA BOTTONM FIXTURE SCALE 1+ 4
ATTACHED 10 SECTION WITH -
SECTION 6-G (4) SCREWS 1/4 = 14 X 7/8" SELF
CAE 1L g DRILLING CRIMPTITE SCREWS, J—
12 GA EXTENSION BRACKET ATTACHED
--‘O\F\\T‘\\\ WITH (3 174 - 14 X 7/8° SELF DRILLING ”
STE L Ex W\ CRINPTITE SCREWS () TF WHICH ARE M/MTACHED WITH @) 1/4-147/8" SELF
P Ao N : — USED 70 ATTACHED STRUT [ DRILLING CRIMPTITE SCREWS AT EACH B
PR ) e ATTACHED WITH b 174 ey 7/g" 7/16° DIA. STENS TP AND EACH INTERMEDIATE HINGE FOR EACH
3 SN SO TS v SELF DRILLING CRIMPTITE BOTTON ROLLERS STRUT
% J.C.VOELKEL ¢ © SCREWS PUSH NUT
'luuc. ---------------------- :l ...Il ?/AESATTR}_AEGRASLE)AL
";%O.' (1 331 7% (é’rd/ DETALL J DETALL K DETALL L B
<% /CENSQ'\V\,’ SCALE 1+ 4 SCALE 1+ 4 SCALE 1+ 4
\ s,d'""\:ev\c’.' ONLESS OTHERWISE SPECIFIED APPROVALS — TATE
\\\\ﬂé\.“_- THIRD ANGLE PROJECTION INTERPRET DIMS & TOLS TDLERANXCE& . gﬁég/KNED [E] }EHSE?@DH 8/28/18 LEWISVILLE, TEXAS
@g PER ASME Y14.5M ‘ - b ‘ -
X0 =103 APPROVED - - DESCRIPTION
J. CHRISTIAN VOELKEL, PE ALL DIMS ARE IN X =00 MATERTAL - WINDLOAD MODELS 4600/4650/5745/5763/ |
INCHES ANGULAR = +5° 7565/915/929/830, +46/-52PSF
312 N, NEW WARRINGTON ROAD, UNIT 1A 0.,
OVERMEAD DOOR CORP DO NOT SCALE HOLES: DADE COUNTY, 18'2* MAX WIDTH
PENSACILA, FL 500S, STATE WY 121 | DINS CIRCLED WITH SYMBL * C 7| .0t B2l = +004/m003 - FINESH ] SIZEIVG D o
FL PE 82229 TX PE 133174 SUITE 200 ARE CRITICAL TO QUALITY DESTGN B231-8.000 = +006/~003 D D-411531 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FIR LEWISWLLE TEXAS 75067 | FEATLRES & MUST MEET APPLICABLE o GEMURY ED*V%[EN/EDU?Y I
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS, 169-549-7100 IN-PROCESS INSPECTION STANDARDS. U F L T N e SCALE | \ UM = EA \SHEU 2 IF 4
8 T 7 6 5 ‘T 4 T 3 2 1


chris
Texas


8 7 6 S5 4 3 2 1
| v

.

NOTES: (UNLESS OTHERWISE SPECIFIED)
LONE 4* AND 3 STRUT PER SECTION, ATTACHED WITH 1/4-14X7/8" SELF DRILLING
, (12) SECTION DOORS WITH
CRINPTITE SCREVS, (12) 4" 16 GA 80 KSI U- BARS
(12) 3' 18 A 80 KSI U- BARS
LOCATED A SHOWN™
TRACK CDﬁHGNAUDMUIg TRACK (11 SECTION DOORS WITH
RWE T s T kR Ly
1/4'-20 TRACK N o CONTINUDUS o TRACK CONTINUOUS 0 TRACK LOCATED AS' SHIWN™
[R_CARRIAGE BOLT 11 GA MIN TRACK ] WALL ANGLE ] WALL ANGLE o | I
WITH 1/4"-20 NUT CLIP SEE 1/47-20 TRACK AL GA MIN TRACK I AL GA MIN (10) SECTION DOORS WITH
SCHEDULE ® lares | [OR CARRIAGE BOLT ° CLIP SEE SCHEDULE o TRACK CLIP (100 4" 16 GA 80 KSI U- BARS
WITH 4750 NUT o ol™=2=|  SEE SCHEDULE (10) 3 18 GA 80 KSI U- BARS
16 GA STIFFENEND @) 1/4"-20 TRACK LOCATED AS SHOWN
JMMB BRACKET ] @ 1/4-20x9/16" ] (R CARRIAGE BOLT ) N
o Taae " River : S e T ) VT WH R ot (9) SECTION DOORS T
- RSW 51l (9) 4" 16 G 80 KSI U- BARS
3/3 VITH 174720 T () 3' 18 GA 80 KSI U- BARS
TYPICAL TRACK CLIP N
TYPICAL TRACK AND JAMB TYPICAL TRACK CLIP TYPICAL TRACK CLIP
RIVETING DETALL DPILAL_TRALK LLIP (8) SECTION DOORS WITH
FASTENERS DETAIL BOLTING DETAIL WELDING DETAIL ) 4, 16 CA 80 KST U~ BARS
OPTIONAL WALL ANGLE TRACK (8) 3' 18 GA 80 KSI U- BARS
LOCATED AS SHOWN
DETAIL M
SCALE 1+ 4 \
<7> SECTION DODRS WITH
7 ) 4" 16 GA 80 KSI U~ BARS
M i <7> 3 18 Gh 80 KST U~ BARS
. LOCATED AS SHIVN <
_ (6) SECTION DOORS WITH [=
%) 4716 Gh 80 KSI U~ BARS
== s (%) 3" 18 GA 80 KSI U~ BARS
"o : LOCATED AS SHOWN <
] (5) SECTION DOORS WITH = E
(3) 47 16 GA 80 KSI U~ BARS
(3) 3" 18 GA 80 KSI U- BARS
LOCATED AS SHIVN E ;
# DOOR HEIGHT DOOR HEIGHT Y|, EZP %CEDGNA DE;DUDRKS@WHBARS &
= (4) 3" 18 GA 80 KSI U- BARS
LOCATED AS SHOWN <
| n E B E
S%@E%@R%E%IAE[ LTiuRXEEE%E%IDLM ; [———4" STRUT ATTACHED WITH (@ 1/4-14x7/8"
SELF DRILLING CRIMPTITE SCREWS AT g
1 CACH HINGE LOCATION AND (@) BETWEEN g E 3 g
EACUTINTERMEDIME HINGE FOR EACH —
DETAIL N
TRACK DETAIL ui@ - = SCALE 1+ 4
SCALE 1+ 12 I, & 5 o g‘
| e o > 7 u 3 STRUT ATTACHED WITH (2) 1/4-14x7/8" i i i i
2 SELF DRILLING CRIMPTITE SCREWS AT % E - E
_ EACH HINGE LOCATION AND (2) BETWEEN ! " . .
' E%UTINTERMEDWE HINGE FOR EACH
SN 1= ! ' '
‘_.““\:T OF T\E\\\\ b E E Eﬁ ;
] i | ﬂ ] l |
£ e oo
* .-' % * i (= [ = [}=
) ® ok b
4..J.C.VOELKEL 4 STRUT LOCATIONS
' i . Il SCALE 1:20
| (BX 133174 Sl
o< 0. &' Z
R ,9ENS?;..-'G\$:
WSS/ONAL Vs UNLESS OTHERWISE SPECIFIED APPROVALS _ DATE
\ \\NA‘;.-" . THRD AILE PRECTIO INTERPRET DIMS. & TOLS TOLERANCES: DRAWN E. CONRAD _ 8/08/18 LEWISVILLE, TEXAS
e \ @g PER ASHE Y14.5M X o=t LHECRED D KIRNISH -
DOOR HEIGHT DOOR HEIGHT ‘ X =03 APPROVED - - DESCRIPTIIN
J. CHRISTIAN VOFLKEL, PE ALL I%IN%SHE@RE IN " UXLXg(R -t 051 MATERIAL - WND%@%/M%J%%fgg%/%fg//%%%;%w
312 N, NEW WARRINGTON ROAD, UNIT 1A =t )y Hi0/=
PENSACTLA. FL OVERHEAD DOOR CORP DO NOT SCALE HOLES: DADE COUNTY, 182" MAX WIDTH
FL PE 82229 TX/ PE 133174 - - 2901 S, STATE HWY 121 DIMS CIRCLED WITH SYMBOL ' C ) ¢ 9251 = +004/-003 FINISH N SIZE|DWG - NI, REV
HIGH LIET LHCAL LIFT SULTE_200 ARE CRITICAL 10 QUALITY DESTGN | B2al=2a00 = +006/-00) D D-411531 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR TRACK DETALL TRACK DETAIL LEWISVILLE, TEXAS 75067 |  FEATURES & MUST MEET APPLICABLE > 0500 = +008/-003 |
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS, 469-549-7100 IN-PROCESS INSPECTION STANDARDS. |ALL GEOMEIRY GD%%UR[’]WEVI}LBFL%HCé%Mgﬁg%A%E‘DR SCALE ‘ UM = A ‘SHEET 30F 4
ENG F.20.041D-(FORM REV A) 8 ‘ / 6 > ‘T\ ¢ ‘ 3 e !


chris
Texas


8 7 6 S5 4 3 2 1
! v

.

NOTES: (UNLESS DTHERWISE SPECIFIED)
I FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.
i o LENGTH = DOOR WIDTH -1
— 27507 — RN
i - (9‘75[]} S [T — 8w | Lo ‘* T ——LENGTH = DOIR WIDTH -1— -
o | o
7. — 27504 — ‘
3675 H 4o H & W 2211 e — = —Lrehb
& 0 & ©:| H > L ‘ EAB
—t—t — _ \—‘;1‘850 - ® & L& ® ® ‘ ‘7
—~ L9500J - ~4.000~ 034 THICK
TOP FIXTURE _ASSY. BASE, TOP_FIXTURE " " REINFORCING ANGLE BRACKET ROLLER CARRIFR LHR (7-4) 4 STRUT (LUBAR) 2+ STRUT DPEN WL CUBAR)
1Lua LG 13 tA 3 b 80 KSI MIN, YIELD STRENGTF, 4° X 16 GA 80 KSI NIN VIELD STRENGIF, 3 X 18 GA
TOP_FIXTURE DETAILS STRUT DETAILS
— 1372 - 305 -
/SECURED WITH (4) 605879-0002 SCREWS 1/4-20 X 5/8"
" — o3 THROV
0 /[\ ‘ S oo o ( \
0 8215 0] 5%t o) 41‘88 H
. e a \| R QF 7.8 7.380 !
@ O 0O O O
0 ‘ o410 " |
5 Lo s | Ty pop 11000 X 5T THIEK
Sl — 750
N 750 R e SIDE LOCK ASSY
BOTTOM FIXTURE, BB-1¢ BRACKET, TOP RES, [HR 14 GA 11 GA /13 GA
3 G 1o 0h
BOTTOM FIXTURE DETAILS HINGE DETAILS LOCK DETAILS
B -
i ‘
‘ ‘ 740
w IEU 1811 REF, w EU 2835 RLT, i Bm% RET. 18072 X
| o
e 0T Tepw 0 0 2 031
PN A \
o AV e .9 N
” 90.-. .".& '
* .- .l *
2. *l, ROLLER ASSY. 2* WL 1144 ROLLER ASSY. 3* 7/16" STEM ROLLER ASSY. 3 9/16" STEM JAME} BERAACKET =
’...:!'0.' ooo'ootovooovoooooo-' — L
? J. C. VOELKEL 4 i— | -
®e000000000000000000000000 :..-l | 74‘8067 - .
¢ ..~ : R
— '.‘%". 1 3 31 74 ..'5’/’ ROLLER STEM ASSY DETAILS BRACKET DETAILS FLAG, ANGLE 1319 —
N -f{geNs?:.o.é\é‘": D
‘\\5'816;(,’,;“\: N UNLESS OTHERWISE SPECIFIED APPROVALS — DATE
\\ o THIRD AL FROUECTION TOLERANCES: DRAWN E. CONRAD — 8/08/18 LEWISVILLE, TEXAS
AN INTERPRET DIMS & TOLS . AR C
@& o] PER ASHE V145M rooos D KRNISH -
X0 =103 APPROVED DESCRIPTION
J. CHRISTIAN VIOELKEL, PE ALL %IN%SHEASRE IN X0 =0 MATERTAL - mND%DB%%/MS%J%%%%%M6456?//5575;8/;765/
ANGULAR = +5° ib)
e A OVERHEAD DOCR CORP DO NOT SCALE HOLES: DADE._COUNTY, 16'e” MAX WIDTH
’ 2501 S, STATE HWY 121 DINS CIRCLED WITH SWBOL ' C D 7 ¢ Beol = +004/-003 FINISH - SIZE[DWG D, REV
L PL Beced TAPL 1334 SUITE 200 ARE CRITICAL 10 QUALITY DRSO | 023170300 = +006/-003 ] 0411531 )
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR LEWISVILLE, TEXAS 75067 FEATURES & MUST MEET APPLICABLE ) 8900 = +008/-,003
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS, 469-549-7100 IN-PROCESS INSPECTION STANDARDS. |ALL GEUMETR G %%E\]}/LBEL%J%H M A EDDR SCALE 117P ‘ UM = ‘SHEET 4IF 4
ENG F.20.041D-(FORM REV A) 8 ‘ / 6 > T\ ¢ ‘ e ‘ L


chris
Texas


	411529-rA SH1
	411529-rA SH2
	411529-rA SH3
	411529-rA SH4
	411530-rA SH1
	411530-rA SH2
	411530-rA SH3
	411530-rA SH4
	411531-rA SH1
	411531-rA SH2
	411531-rA SH3
	411531-rA SH4

		2020-09-09T17:26:35-0500
	John Christian Voelkel




